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¥ +y2-5=0---Q
xy—-2=0---O

Q, O= dHstd
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A(n) = " + (=1)"n, f(n) = A(1) + A(2) + -+ + A(n) ©]2} T
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(x=y)(x+y+1)=0

ZANA x #£yO]|BR x+y=-10°|t}.
@+ @A X2 +y?—x—y=2i
AlS HAYPSHA (x+y)2 - 2xy — (x+y) = 2i
Lxy=1-1
4y = (x+)? - 3wy(x+)

= (-1)° = 3(1 - i)(-1)

=2-3i




1+ 1
Bog 0] 4RI POl T, of = Ao+ o B2 (2

ov: @vi 0: @5 © 6

8

1+
o’ = T !
a=a+bi(a, b =45, a>0)2 FH
@ = a® + 3a?bi — 3ab®> - b3i =i
(a® - 3ab?) + (3a*b - b)i =i
a®=3ab?2=0---Q), 3a*b-b*=1---©
QNA] a® = 32 & Lol ©° YA

b—la—ig'a'— V341
D D)
1 V3+i 2
a+ — =
@ 2 V3 +i
_ B+ V-
2 2
=3

r
\.

1 1
a+—#0,a+—>0

a a
(- Bas a9 4457t olng)

1
Tat+—=13
(07




24.
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